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(mm) | (mm) | (mm) | (mm) (mm) | (mm) | (mm) (mm) (mm) | (mm) | (mm) | (mm)
47/(:(? 2910 1,090 5,100 3,090 910 3,000 2,800 1,200 2,900 - - -
‘;/(;(:)3 2,840 1,160 5,100 3.047 953 3,050 2,810 1,190 2,900 - - -
‘;/J: 2,800 1,200 5,100 3,065 935 3,050 2,830 1,170 2,900 2,800 - -
47/(;05 2,800 1,200 5,100 3,090 910 3,050 2,830 1,170 2,900 2,800 - -
?’/Jg 2,800 1,200 5,100 3,115 885 3,100 2,860 1,140 2,900 2,900 - -
?]/(;(;’ 2,800 1,200 - 3,150 850 3,100 2,870 1,130 2,900 2,900 - -
‘;/(;3 2,800 1,200 5,050 3.180 820 3,100 2,880 1,120 2,900 2,900 - -
47/(:3 2,490 1,510 5,050 3.200 800 3,100 2,890 1,110 2,900 2,900 - -
velo- - - - - - - - - - | -1217 | 83
47/38 2,480 1,620 5,050 3.190 810 3,100 2,920 1,080 2,900 2,950 | -1,046 254
‘;/g(; 2470 1,530 5,050 3.170 830 3,100 2,930 1,070 2,900 2,990 -940 360
47/35 2470 1,530 5,050 3,150 850 3.100 2,940 1,060 2,900 3,000 -827 473
47/(?: 2470 1,530 5,050 3,130 870 3,100 2,960 1,040 2,900 3,000 -1 589
47/53 2,470 1,630 5,050 3.130 870 3,100 2,990 1,010 3.000 3,000 -600 700
‘;/505 2,470 1,530 5,050 3.120 880 3,100 2,990 1,010 3,000 3,000 =487 813
‘![/(fg 2470 1,530 5,050 3,110 890 3,100 3,020 980 3,000 3,050 =377 923
‘;/(?g 2,470 1,530 5,050 3.110 890 3,100 3,030 970 3,000 3,050 -2Nn 1,029
‘;/02: 2470 1,530 5,050 3,100 900 3,100 3,050 950 3,000 3,100 =162 1,120
‘;/gg 2,470 1,530 5,050 3.100 900 3.100 3.060 940 3,000 3.100 -46 1,236
2 | 2250 | 1750 | 5050 | 3110 | 890 | 3100 | 3070 | 930 | 3000 | 3100 | -35 | 1247
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